Weight word problems

. A gardener has a bag of compost with 20Kg. He uses 9 Kg. How much compost
does he have left?

2. Mum buys 50g of sweets and dad buys 30g of sweets. How many grams of
sweets did they buy altogether?

3. A packet holds 5g of butter. There are six packets of butter on the table. How
much butter is there on the table in total?

4. A lift can take a maximum of 80Kg at one time. A bag of potatoes weighs 10Kg.
How many bags of potatoes can the lift take at one time?

To access the 3 complete worksheets (including answers) at 3 levels of difficulty:
e one-step word problems with all four operations
e as above, but also two-step problems with addition and subtraction
e all two-step word problems with all four operations
visit

http://www.saveteacherssundays.com/maths/year-3/106/weight-word-

problems/
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